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3XML� GDQ� V\XNXU� SHQXOLV� SDQMDWNDQ� NHKDGDSDQ� 7XKDQ� <DQJ�0DKD� (VD�� NDUHQD� DWDV�

NDUXQLD�1\D��SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�\DQJ�EHUMXGXO�³3HUDQFDQJDQ�

7UROL�%XNX�GL�3HUSXVWDNDDQ�8QLYHUVLWDV�7HONRP�GHQJDQ�0HWRGH�8VHU�&HQWHUHG�'HVLJQ

�8&'�´�WHSDW�SDGD�ZDNWXQ\D��7XJDV�$NKLU�LQL�GLVXVXQ�XQWXN�PHPHQXKL�SHUV\DUDWDQ�

GDODP�PHQ\HOHVDLNDQ�SHQGLGLNDQ GL�3URJUDP�6DUMDQD�3URJUDP�6WXGL�7HNQLN�,QGXVWUL�GL�

8QLYHUVLWDV�7HONRP�

3HQ\XVXQDQ�7XJDV�$NKLU� LQL� WLGDN� WHUOHSDV� GDUL� EDQWXDQ� EHUEDJDL� SLKDN��8QWXN� LWX��

PHODOXL� NHVHPSDWDQ� LQL�� SHQXOLV� LQJLQ�PHQ\DPSDLNDQ� WHULPDNDVLK� GDQ� SHQJKDUJDDQ�

\DQJ�VHEHVDU�EHVDUQ\D�NHSDGD��

�� %DSDNNX��$OELNHU�6LODODKL�GDQ�0DPDNX��5LQGX�0DUEXQ��WHULPD�NDVLK�DWDV�VHJDOD�

KDO�\DQJ�WHODK�GLEHULNDQ�NHSDGDNX�VHODPD�LQL�EDLN�PRUDO�PDXSXQ�PDWHULO��7HULPD�

NDVLK�DWDV�WHNDQDQ�PHPEDQJXQ�\DQJ�GLEHULNDQ�EHUXSD�ED\DUDQ�VHPHVWHU�GDQ�XDQJ�

NRVWDQ�\DQJ�VDQJDW�PHPEXDW�EHUVHPDQJDW�NHPEDOL�PHQJHUMDNDQ�7XJDV�$NKLU�LQL�

�� $VLVWHQ� /DE�� 3HQJHPEDQJDQ� 3URGXN� ����� GDQ� ����� \DQJ� WHODK� PHPEHULNDQ�

VHPDQJDW��VDUDQ�PHQJHQDL�7XJDV�$NKLU�VHUWD�EDQWXDQ�EHUXSD�SHQJLVLDQ�NXLVLRQHU�

VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL�

�� $VLVWHQ�/DE��3HQJHPEDQJDQ�3URGXN��������&DFD��+LOPDQ��$GLW��+DQGLQL��'LPDV��

0HGL�� 5LQL�� (VD�� 3DZ�� 1DELOD�� $GKXP�� %REE\�� 5D]LT�� 3HUEDZD�� 2QQ\�� 3UDV��

$QJJD��,QGLUD�GDQ�)LNUL�\DQJ�WHODK�PHPEHULNDQ�VXSSRUW�NHSDGD�SHQXOLV�VHKLQJJD�

SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�

�� 5HNDQ�³$NEDU�.RVW�6TXDG´��+LOPDQ��5DPD��'DYL��'HVND��6DSLN��GDQ�'ZLNL��GDQ�

NDQJ�+HQGUD� VHODNX� SHQMDJD� NRVW� \DQJ� WHODK�PHPEHULNDQ� KLEXUDQ� GDQ� VXSSRUW

NHSDGD�SHQXOLV�

�� 5HNDQ�38%*�³3'(9648$'´ �5\R-5��GLGLGODY��6D)¶��$*(172���� MRJHWNX\��

&DSWDLQ;'LFN\�� $O]HLQD�� 6KDL]VD�� USQ]OOO�� 3HDQXW$WWDFN�� .DGDO6HWDQ�� 6HD\K��

%DML[���� :RRSHU-5�� 3DZ���� GDQ� -DFLQWDMHV�� \DQJ� WHODK� PHPEHULNDQ� KLEXUDQ�

NHSDGD�SHQXOLV�


